# RISING DIAGONAL POLYNOMIALS ASSOCIATED WITH MORGAN-VOYCE POLYNOMIALS 

M. N. S. Swamy<br>Concordia University, Montreal, Quebec, H3G 1M8, Canada<br>(Submitted April 1998-Final Revision January 1999)

## 1. INTRODUCTION

Diagonal polynomials have been defined for Chebyshev, Fermat, Fibonacci, Lucas, Jacobsthal and other polynomials, and their properties have been studied (see, e.g., [9]. [5], and [7]). However, these are not applicable to the diagonal polynomials associated with the Morgan-Voyce polynomials (hereafter denoted as MVPs) $B_{n}(x), b_{n}(x), c_{n}(x)$, and $C_{n}(x)$, defined by:
with

$$
\begin{equation*}
B_{n}(x)=(x+2) B_{n-1}(x)-B_{n-2}(x) \quad(n \geq 2) \tag{1.1a}
\end{equation*}
$$

$$
\begin{equation*}
B_{0}(x)=1, \quad B_{1}(x)=x+2 \tag{1.1b}
\end{equation*}
$$

with

$$
\begin{equation*}
b_{n}(x)=(x+2) b_{n-1}(x)-b_{n-2}(x) \quad(n \geq 2) \tag{1.2a}
\end{equation*}
$$

$$
\begin{equation*}
b_{0}(x)=1, \quad b_{1}(x)=x+1 \tag{1.2b}
\end{equation*}
$$

$$
\begin{equation*}
c_{n}(x)=(x+2) c_{n-1}(x)-c_{n-2}(x) \quad(n \geq 2) \tag{1.3a}
\end{equation*}
$$

with

$$
\begin{equation*}
c_{0}(x)=1, \quad c_{1}(x)=x+3 \tag{1.3b}
\end{equation*}
$$

$$
\begin{equation*}
C_{n}(x)=(x+2) C_{n-1}(x)-C_{n-2}(x) \quad(n \geq 2) \tag{1.4a}
\end{equation*}
$$

with

$$
\begin{equation*}
C_{0}(x)=2, \quad C_{1}(x)=x+2 \tag{1.4b}
\end{equation*}
$$

Many interesting results have been proved regarding these MVPs (see [10], [11], [14], [12], [1], [2], [6], and [8]), and some of the important known results are listed in Section 2 for ready reference as well as for establishing the results regarding their associated diagonal polynomials.

## 2. SOME IMPORTANT PROPERTIES OF THE MORGAN-VOYCE POLYNOMIALS

## Interrelations:

$$
\begin{array}{ll}
b_{n}(x)=B_{n}(x)-B_{n-1}(x) \quad(n \geq 1), & \text { from [10] } \\
x B_{n}(x)=b_{n+1}(x)-b_{n}(x), & \text { from [10] } \\
C_{n}(x)=B_{n}(x)-B_{n-2}(x) \quad(n \geq 2), & \text { from [14], [13] } \\
C_{n}(x)=b_{n}(x)+b_{n-1}(x) \quad(n \geq 2), & \text { from [14], [13] } \\
x c_{n}(x)=b_{n+1}(x)-b_{n-1}(x) \quad(n \geq 1), & \text { from [6]. } \\
C_{n}(x)=c_{n}(x)-c_{n-1}(x) \quad(n \geq 1), & \text { from [6], [13] } \\
x c_{n}(x)=C_{n+1}(x)-C_{n}(x), & \text { from (2.4) and (2.5). } \\
c_{n}(x)=B_{n}(x)+B_{n-1}(x) \quad(n \geq 1), & \text { from [13]. } \tag{2.8}
\end{array}
$$

## Closed-Form Expressions:

$$
\begin{array}{ll}
B_{n}(x)=\sum_{k=0}^{n}\binom{n+k+1}{n-k} x^{k}, & \text { from [11]. } \\
b_{n}(x)=\sum_{k=0}^{n}\binom{n+k}{n-k} x^{k}, & \text { from [11]. } \\
c_{n}(x)=\sum_{k=0}^{n} \frac{2 n+1}{2 k+1} \cdot\binom{n+k}{n-k} x^{k}, & \text { from (2.8) and (2.9). } \\
C_{n}(x)=2+\sum_{k=1}^{n} \frac{n}{k} \cdot\binom{n+k-1}{n-k} x^{k}, & \text { from (2.4) and (2.10). } \tag{2.12}
\end{array}
$$

It should be noted that (2.12) has been derived earlier (see [2]).

## Zeros:

$$
\begin{array}{ll}
B_{n}(x): x_{r}=-4 \sin ^{2}\left\{\frac{r}{n+1} \cdot \frac{\pi}{2}\right\}, r=1,2, \ldots, n, & \text { from [12]. } \\
b_{n}(x): x_{r}=-4 \sin ^{2}\left\{\frac{2 r-1}{2 n+1} \cdot \frac{\pi}{2}\right\}, r=1,2, \ldots, n, & \text { from [12]. } \\
c_{n}(x): x_{r}=-4 \sin ^{2}\left\{\frac{2 r}{2 n+1} \cdot \frac{\pi}{2}\right\}, r=1,2, \ldots, n, & \text { from [1]. } \\
C_{n}(x): x_{r}=-4 \sin ^{2}\left\{\frac{2 r-1}{2 n} \cdot \frac{\pi}{2}\right\}, r=1,2, \ldots, n, & \text { from [14]. } \tag{2.16}
\end{array}
$$

## Generating Functions:

$$
\begin{array}{ll}
B(x, t)=\sum_{0}^{\infty} B_{n}(x) t^{n}=\left[1-\left(x t+2 t-t^{2}\right)\right]^{-1}, & \text { from (1.1a) } \\
b(x, t)=\sum_{0}^{\infty} b_{n}(x) t^{n}=(1-t) B(x, t), & \text { from (2.1) and (2.17). } \\
c(x, t)=\sum_{0}^{\infty} c_{n}(x) t^{n}=(1+t) B(x, t), & \text { from (2.8) and (2.17). } \\
C(x, t)=\sum_{0}^{\infty} C_{n}(x) t^{n}=1+\left(1-t^{2}\right) B(x, t), & \text { from (2.3) and (2.17). } \tag{2.20}
\end{array}
$$

## Differential Equations:

$$
\begin{array}{ll}
B_{n}(x): x(x+4) y^{\prime \prime}+3(x+2) y^{\prime}-n(n+2) y=0, & \text { from [12]. } \\
b_{n}(x): x(x+4) y^{\prime \prime}+2(x+1) y^{\prime}-n(n+1) y=0, & \text { from [12]. } \\
c_{n}(x): x(x+4) y^{\prime \prime}+2(x+3) y^{\prime}-n(n+1) y=0, & \text { from [13]. } \\
C_{n}(x): x(x+4) y^{\prime \prime}+(x+2) y^{\prime}-n^{2} y=0, & \text { from [3]. } \tag{2.24}
\end{array}
$$

## Orthogonality Property:

$B_{n}(x)$ : Orthogonal over $(-4,0)$ with respect to the weight function $\sqrt{-x(x+4)}$, from [11].
$b_{n}(x)$ : Orthogonal over $(-4,0)$ with respect to the weight function $\sqrt{-(x+4) / x}$, from [11].
$c_{n}(x)$ : Orthogonal over $(-4,0)$ with respect to the weight function $\sqrt{-x /(x+4)}$, from [13].
$C_{n}(x)$ : Orthogonal over $(-4,0)$ with respect to the weight function $1 / \sqrt{-x(x+4)}$, from [2].

## Simson Formulas:

$$
\begin{array}{ll}
B_{n+1}(x) B_{n-1}(x)-B_{n}^{2}(x)=-1, & \text { from [11]. } \\
b_{n+1}(x) b_{n-1}(x)-b_{n}^{2}(x)=x, & \text { from [12]. } \\
c_{n+1}(x) c_{n-1}(x)-c_{n}^{2}(x)=-(x+4), & \text { from [13]. } \\
C_{n+1}(x) C_{n-1}(x)-C_{n}^{2}(x)=x(x+4), & \text { from [13]. } \tag{2.32}
\end{array}
$$

## 3. RISING DIAGONAL POLYNOMIALS

In order to define the diagonal polynomials associated with the Morgan-Voyce polynomials in a manner similar to the diagonal polynomials defined for Chebyshev, Fermat, Fibonacci, and other polynomials (see [9], [5], [7]), we first need to express the MVPs $B_{n}(x), b_{n}(x), c_{n}(x)$, and $C_{n}(x)$ in descending powers of $x$. By letting $i=n-k$ in (2.9), (2.10), (2.11), and (2.12), we get the following expressions for the MVPs:

$$
\begin{align*}
& B_{n}(x)=\sum_{i=0}^{n}\binom{2 n+1-i}{i} x^{n-i} ;  \tag{3.1}\\
& b_{n}(x)=\sum_{i=0}^{n}\binom{2 n-i}{i} x^{n-i} ;  \tag{3.2}\\
& c_{n}(x)=\sum_{i=0}^{n} \frac{2 n+1}{2 n+1-2 i} \cdot\binom{2 n-i}{i} x^{n-i} ;  \tag{3.3}\\
& C_{n}(x)=x^{n}+\sum_{i=1}^{n-1} \frac{n}{n-i} \cdot\binom{2 n-1-i}{i} x^{n-i}+2 . \tag{3.4}
\end{align*}
$$

We now rearrange $C_{n}(x)$ into a form that will help in formulating a closed-form expression for the corresponding rising diagonal polynomial. It can be shown that

$$
\frac{n}{n-i} \cdot\binom{2 n-1-i}{i}=\frac{2 n}{i} \cdot\binom{2 n-1-i}{i-1} .
$$

Hence, (3.4) can be rewritten as

$$
C_{n}(x)=x^{n}+\sum_{i=1}^{n-1} \frac{2 n}{i} \cdot\binom{2 n-1-i}{i-1} x^{n-i}+2
$$

or

$$
\begin{equation*}
C_{n}(x)=x^{n}+\sum_{i=1}^{n} \frac{2 n}{i} \cdot\binom{2 n-1-i}{i-1} x^{n-i} \tag{3.5}
\end{equation*}
$$

Let us first consider the rising diagonal polynomial $R_{n}(x)$ associated with the MVP $B_{n}(x)$. We see from (3.1) that

$$
\begin{aligned}
& R_{0}(x)=1, R_{1}(x)=x, R_{2}(x)=x^{2}+2, R_{3}(x)=x^{3}+4 x, \ldots \\
& R_{n}(x)=x^{n}+\binom{2 n-2}{1} x^{n-2}+\binom{2 n-5}{2} x^{n-4}+\binom{2 n-8}{3} x^{n-6}+\cdots
\end{aligned}
$$

The above may be rewritten as

$$
R_{n}(x)=\binom{2 n+1}{0} x^{n}+\binom{2 n-2}{1} x^{n-2}+\binom{2 n-5}{2} x^{n-4}+\cdots+\binom{2 n+1-3\left[\frac{n}{2}\right]}{\left[\frac{n}{2}\right]} x^{n-2\left[\frac{n}{2}\right]}
$$

Hence,

$$
\begin{equation*}
R_{n}(x)=\sum_{i=0}^{[n / 2]}\binom{2 n+1-3 i}{i} x^{n-2 i} \tag{3.6}
\end{equation*}
$$

Similarly, starting with (3.2), (3.3), and (3.5), we may derive the following polynomial expressions for the rising diagonal polynomials $r_{n}(x), \rho_{n}(x)$, and $\mathrm{P}_{n}(x)$ associated, respectively, with the MVPs $b_{n}(x), c_{n}(x)$, and $C_{n}(x)$ :

$$
\begin{gather*}
r_{n}(x)=\sum_{i=0}^{[n / 2]}\binom{2 n-3 i}{i} x^{n-2 i}  \tag{3.7}\\
\rho_{n}(x)=\sum_{i=0}^{[n / 2]} \frac{2 n+1-2 i}{2 n+1-4 i} \cdot\binom{2 n-3 i}{i} x^{n-2 i}  \tag{3.8}\\
P_{n}(x)=x^{n}+\sum_{i=1}^{[n / 2]} \frac{2(n-i)}{i} \cdot\binom{2 n-1-3 i}{i-1} x^{n-2 i} . \tag{3.9}
\end{gather*}
$$

It is readily seen that all the four sets of diagonal polynomials are even for even values of $n$ and odd for odd values of $n$. Table 1 lists the diagonal polynomials up to $n=8$.

## 4. SOME INTERRELATIONS AMONG $\boldsymbol{R}_{\boldsymbol{n}}(x), r_{\boldsymbol{n}}(x), \rho_{n}(x)$ AND $\mathbb{P}_{n}(x)$

Consider the expression $R_{n}(x)-R_{n-2}(x)$. Then, from (3.6), we have

$$
\begin{aligned}
R_{n}(x)-R_{n-2}(x) & =\sum_{i=0}^{[n / 2]}\binom{2 n+1-3 i}{i} x^{n-2 i}-\sum_{i=0}^{[n / 2]-1}\binom{2 n-3-3 i}{i} x^{n-2-2 i} \\
& =x^{n}+\sum_{i=1}^{[n / 2]}\binom{2 n+1-3 i}{i} x^{n-2 i}-\sum_{i=1}^{[n / 2]}\binom{2 n-3 i}{i-1} x^{n-2 i} \\
& =x^{n}+\sum_{i=1}^{[n / 2]} \frac{2 n-4 i+1}{i} \cdot \frac{(2 n-3 i) \ldots(2 n-4 i+2)}{(i-1)!} x^{n-2 i}
\end{aligned}
$$

$$
\begin{aligned}
& =x^{n}+\sum_{i=1}^{[n / 2]}\binom{2 n-3 i}{i} x^{n-2 i}=\sum_{i=0}^{[n / 2]}\binom{2 n-3 i}{i} x^{n-2 i} \\
& =r_{n}(x), \text { using (3.7). }
\end{aligned}
$$

Hence, we have the result that

$$
\begin{equation*}
r_{n}(x)=R_{n}(x)-R_{n-2}(x) \quad(n \geq 2) . \tag{4.1}
\end{equation*}
$$

It is interesting to compare this result with the corresponding one relating the respective MVPs, namely,

$$
b_{n}(x)=B_{n}(x)-B_{n-1}(x) \quad(n \geq 1) .
$$

We now prove that

$$
\begin{equation*}
x R_{n}(x)=r_{n+1}(x)-r_{n-1}(x) \quad(n \geq 1) \tag{4.2}
\end{equation*}
$$

a result which corresponds to (2.2) with respect to the original MVPs $B_{n}(x)$ and $b_{n}(x)$. First, consider $r_{2 n+1}(x)-r_{2 n-1}(x)$. Then, from (3.7),

$$
\begin{aligned}
r_{2 n+1}(x)-r_{2 n-1}(x) & =\sum_{i=0}^{n}\binom{4 n+2-3 i}{i} x^{2 n+1-2 i}-\sum_{i=0}^{n-1}\binom{4 n-2-3 i}{i} x^{2 n-1-2 i} \\
& =x^{2 n+1}+x \sum_{i=1}^{n}\binom{4 n+2-3 i}{i} x^{2 n-2 i}-x \sum_{i=1}^{n}\binom{4 n+1-3 i}{i-1} x^{2 n-2 i} \\
& =x^{2 n+1}+x \sum_{i=1}^{n}\binom{4 n+1-3 i}{i} x^{2 n-2 i} \\
& =x \sum_{i=0}^{n}\binom{4 n+1-3 i}{i} x^{2 n-2 i} \\
& =x R_{2 n}(x), \text { using (3.6). }
\end{aligned}
$$

Similarly, we can show that

$$
r_{2 n+2}(x)-r_{2 n}(x)=x R_{2 n+1}(x)
$$

Hence, the result (4.2).
Again, from (3.7), we have

$$
\begin{align*}
r_{2 n+1}(x)+r_{2 n-1}(x) & =x^{2 n+1}+x \sum_{i=1}^{n}\binom{4 n+2-3 i}{i} x^{2 n-2 i}+x \sum_{i=1}^{n}\binom{4 n+1-3 i}{i-1} x^{2 n-2 i} \\
& =x^{2 n+1}+\sum_{i=1}^{n} \frac{2(2 n+1-2 i)}{i} \cdot\binom{4 n+1-3 i}{i-1} x^{2 n+1-2 i} \\
& =\mathrm{P}_{2 n+1}(x), \text { using (3.9). } \tag{4.3a}
\end{align*}
$$

Similarly,

$$
\begin{equation*}
r_{2 n+2}(x)+r_{2 n}(x)=\mathrm{P}_{2 n+2}(x) \tag{4.3b}
\end{equation*}
$$

Combining (4.3a) and (4.3b), we get

$$
\begin{equation*}
\mathrm{P}_{n}(x)=r_{n}(x)+r_{n-2}(x) \quad(n \geq 2) \tag{4.4}
\end{equation*}
$$

a result to be compared with (2.4). Using (4.1), the above relation may be rewritten as

$$
\begin{equation*}
\mathrm{P}_{n}(x)=R_{n}(x)-R_{n-4}(x) \quad(n \geq 4) \tag{4.5}
\end{equation*}
$$

the corresponding result for the MVPs being (2.3).
Again starting with $R_{n}(x)+R_{n-2}(x)$ and using (3.6), we can show that

$$
\begin{equation*}
\rho_{n}(x)=R_{n}(x)+R_{n-2}(x) \quad(n \geq 2) \tag{4.6}
\end{equation*}
$$

which should be compared with relation (2.8) for the corresponding MVPs. Now, using (4.6), we have

$$
\rho_{n}(x)-\rho_{n-2}(x)=R_{n}(x)-R_{n-4}(x) .
$$

Hence, from (4.5), we get

$$
\begin{equation*}
P_{n}(x)=\rho_{n}(x)-\rho_{n-2}(x) \quad(n \geq 2) \tag{4.7}
\end{equation*}
$$

the corresponding relation for the MVPs being (2.6). Further, using (4.4), we have

$$
\begin{aligned}
\mathrm{P}_{n+1}(x)-\mathrm{P}_{n-1}(x) & =\left\{r_{n+1}(x)-r_{n-1}(x)\right\}+\left\{r_{n-1}(x)-r_{n-3}(x)\right\} \\
& =x R_{n}(x)+x R_{n-2}(x), \text { using (4.2), } \\
& =x \rho_{n}(x), \text { using (4.6). }
\end{aligned}
$$

Hence,

$$
\begin{equation*}
x \rho_{n}(x)=\mathrm{P}_{n+1}(x)-\mathrm{P}_{n-1}(x) \quad(n \geq 1) \tag{4.8}
\end{equation*}
$$

a relation corresponding to (2.7) for the original MVPs.
We may derive a number of such interrelationships among the diagonal polynomials $R_{n}(x)$, $r_{n}(x), \rho_{n}(x)$, and $\mathrm{P}_{n}(x)$ corresponding to those of the MVPs $B_{n}(x), b_{n}(x), c_{n}(x)$, and $C_{n}(x)$. We will only list the following:

$$
\begin{align*}
& \sum_{i=0}^{n} r_{i}(x)=R_{n}(x)+R_{n-1}(x)  \tag{4.9}\\
& x \sum_{i=0}^{n} R_{i}(x)=r_{n+1}(x)+r_{n}(x)-1  \tag{4.10}\\
& \sum_{i=0}^{n} P_{i}(x)=\rho_{n}(x)+\rho_{n-1}(x)+1  \tag{4.11}\\
& x \sum_{i=0}^{n} \rho_{i}(x)=\mathrm{P}_{n+1}(x)+\mathrm{P}_{n}(x)-2 \tag{4.12}
\end{align*}
$$

## 5. RECURRENCE RELATIONS AND GENERATING FUNCTIONS

From relation (4.2), we have

$$
\begin{aligned}
x R_{n}(x) & =r_{n+1}(x)-r_{n-1}(x) \quad(n \geq 1) \\
& =\left\{R_{n+1}(x)-R_{n-1}(x)\right\}-\left\{R_{n-1}(x)-R_{n-3}(x)\right\} \quad(n \geq 3), \text { using (4.1). }
\end{aligned}
$$

Hence,

$$
R_{n+1}(x)=x R_{n}(x)+2 R_{n-1}(x)-R_{n-3}(x) \quad(n \geq 3)
$$

Therefore, $R_{n}(x)$ satisfies the recurrence relation

$$
\begin{equation*}
R_{n}(x)=x R_{n-1}(x)+2 R_{n-2}(x)-R_{n-4}(x) \quad(n \geq 4) \tag{5.1a}
\end{equation*}
$$

with

$$
\begin{equation*}
R_{0}(x)=1, R_{1}(x)=x, R_{2}(x)=x^{2}+2, R_{3}(x)=x^{3}+4 x . \tag{5.1b}
\end{equation*}
$$

Similarly, we can deduce that $r_{n}(x), \rho_{n}(x)$, and $\mathrm{P}_{n}(x)$ satisfy the following recurrence relations:
with

$$
\begin{equation*}
r_{n}(x)=x r_{n-1}(x)+2 r_{n-2}(x)-r_{n-4}(x) \quad(n \geq 4), \tag{5.2a}
\end{equation*}
$$

$$
\begin{gather*}
r_{0}(x)=1, r_{1}(x)=x, r_{2}(x)=x^{2}+1, r_{3}(x)=x^{3}+3 x  \tag{5.2b}\\
\rho_{n}(x)=x \rho_{n-1}(x)+2 \rho_{n-2}(x)-\rho_{n-4}(x) \quad(n \geq 4), \tag{5.3a}
\end{gather*}
$$

with

$$
\begin{gather*}
\rho_{0}(x)=1, \rho_{1}(x)=x, \rho_{2}(x)=x^{2}+3, \rho_{3}(x)=x^{3}+5 x ;  \tag{5.3b}\\
P_{n}(x)=x \mathrm{P}_{n-1}(x)+2 \mathrm{P}_{n-2}(x)-\mathrm{P}_{n-4}(x) \quad(n \geq 4), \tag{5.4a}
\end{gather*}
$$

with

$$
\begin{equation*}
\mathrm{P}_{0}(x)=2, \mathrm{P}_{1}(x)=x, \mathrm{P}_{2}(x)=x^{2}+2, \mathrm{P}_{3}(x)=x^{3}+4 x \tag{5.4b}
\end{equation*}
$$

It is interesting to compare the above recurrence relations with those of the corresponding MVPs $B_{n}(x), b_{n}(x), c_{n}(x)$, and $C_{n}(x)$ given by (1.1), (1.2), (1.3), and (1.4), respectively.

We shall now derive generating functions for these diagonal polynomials using the standard technique. Let $g_{n}(x)$ represent any one of the diagonal polynomials $R_{n}(x), r_{n}(x), \rho_{n}(x)$, or $\mathrm{P}_{n}(x)$, and let $G(x, t)$ be the corresponding generating function. Then, from [4], we have

$$
\begin{aligned}
& t^{-4}\left[G(x, t)-g_{0}(x)-g_{1}(x) t-g_{2}(x) t^{2}-g_{3}(x) t^{3}\right] \\
& =x t^{-3}\left[G(x, t)-g_{0}(x)-g_{1}(x) t-g_{2}(x) t^{2}\right] \\
& \quad+2 t^{-2}\left[G(x, t)-g_{0}(x)-g_{1}(x) t\right]-G(x, t) .
\end{aligned}
$$

Hence,

$$
\begin{align*}
& \left(1-x t-2 t^{2}+t^{4}\right) G(x, t)=g_{0}(x)+\left\{g_{1}(x)-x g_{0}(x)\right\} t  \tag{5.5}\\
& \quad+\left\{g_{2}(x)-x g_{1}(x)-2 g_{0}(x)\right\} t^{2}+\left\{g_{3}(x)-x g_{2}(x)-2 g_{1}(x)\right\} t^{4} .
\end{align*}
$$

Therefore, $R(x, t)$, the generating function for the diagonal polynomial $R_{n}(x)$, is given by

$$
\begin{aligned}
\left(1-x t-2 t^{2}+t^{4}\right) R(x, t)=1 & +(x-x) t+\left(x^{2}+2-x^{2}-2\right) t^{2} \\
& +\left(x^{3}+4 x-x^{3}-2 x-2 x\right) t^{4}=1 .
\end{aligned}
$$

Hence,

$$
\begin{equation*}
R(x, t)=\sum_{0}^{\infty} R_{i}(x) t^{i}=\left[1-\left(x t+2 t^{2}-t^{4}\right)\right]^{-1} \tag{5.6}
\end{equation*}
$$

Similarly, by substituting for $g_{n}(x)$ the diagonal polynomials $r_{n}(x), \rho_{n}(x)$, and $\mathrm{P}_{n}(x)$ in (5.5), we can derive the following generating functions for these polynomials:

$$
\begin{align*}
& r(x, t)=\sum_{0}^{\infty} r_{i}(x) t^{i}=\left(1-t^{2}\right) R(x, t)  \tag{5.7}\\
& \rho(x, t)=\sum_{0}^{\infty} \rho_{i}(x) t^{i}=\left(1+t^{2}\right) R(x, t) \tag{5.8}
\end{align*}
$$

$$
\begin{equation*}
\mathrm{P}(x, t)=\sum_{0}^{\infty} \mathrm{P}_{i}(x) t^{i}=1+\left(1-t^{4}\right) R(x, t) \tag{5.9}
\end{equation*}
$$

It is interesting to compare the generating functions (5.6), (5.7), (5.8), and (5.9) of the diagonal polynomials with those of the corresponding MVPs $B_{n}(x), b_{n}(x), c_{n}(x)$, and $C_{n}(x)$, namely, those given by (2.17), (2.18), (2.19), and (2.20).

Using the generating function (5.6), we will now derive an interesting relation among the derivatives. From (5.6),

$$
\frac{\partial R(x, t)}{\partial x}=t R^{2}(x, t)
$$

and

$$
\frac{\partial R(x, t)}{\partial t}=\left(x+4 t-4 t^{3}\right) R^{2}(x, t) .
$$

Hence,

$$
\begin{equation*}
\left(x+4 t-4 t^{3}\right) \frac{\partial R(x, t)}{\partial x}=t \frac{\partial R(x, t)}{\partial t} . \tag{5.10}
\end{equation*}
$$

Thus, from (5.6),

$$
\begin{equation*}
x R_{n}^{\prime}(x)+4 R_{n-1}^{\prime}(x)-4 R_{n-3}^{\prime}(x)=n R_{n}(x) \tag{5.11}
\end{equation*}
$$

However, from (5.1), we have

$$
\begin{equation*}
R_{n+1}^{\prime}(x)=x R_{n}^{\prime}(x)+R_{n}(x)+2 R_{n-1}^{\prime}(x)-R_{n-3}^{\prime}(x) . \tag{5.12}
\end{equation*}
$$

Substituting for $x R_{n}^{\prime}(x)$ from (5.12) in (5.11) and rearranging the terms, we get

$$
(n+1) R_{n}(x)=\left\{R_{n+1}^{\prime}(x)-R_{n-1}^{\prime}(x)\right\}+3\left\{R_{n-1}^{\prime}(x)-R_{n-3}^{\prime}(x)\right\}
$$

Using (4.1) in the above expression, we have the result

$$
\begin{equation*}
(n+1) R_{n}(x)=r_{n+1}^{\prime}(x)+3 r_{n-1}^{\prime}(x) \tag{5.13}
\end{equation*}
$$

Apart from the above result, it has not been possible to derive any other simple derivative relation for the rising diagonal polynomials.

## 6. CONCLUDING REMARKS

We have thus defined and obtained polynomial expressions for the four sets of diagonal polynomials associated with the four sets of Morgan-Voyce polynomials $B_{n}(x), b_{n}(x), c_{n}(x)$, and $C_{n}(x)$. We have also obtained a number of interesting properties of these diagonal polynomials, including the recurrence relations they satisfy. It appears that these diagonal polynomials have a number of other interesting properties.

We would like to mention one such interesting property regarding the location of the zeros of these diagonal polynomials. Using the network properties of two-element-kind electrical networks, it is possible to show that, for $n=1,2, \ldots, 8$, the following results hold:
(a) The zeros of $R_{n}(x), r_{n}(x), \rho_{n}(x)$, and $\mathrm{P}_{n}(x)$ are all simple and lie on the imaginary axis, that is, all the zeros are purely imaginary.
(b) The zeros of $R_{n+1}(x)$ interlace on the imaginary axis with those of $R_{n}(x), r_{n}(x), \rho_{n}(x)$, and $P_{n}(x)$. Also, the zeros of $r_{n+1}(x)$ interlace on the imaginary axis with those of $R_{n}(x), r_{n}(x)$, and $P_{n}(x)$, the zeros of $\rho_{n+1}(x)$ interlace on the imaginary axis with those of $R_{n}(x), r_{n}(x), \rho_{n}(x)$, and $\mathrm{P}_{n}(x)$, and those of $\mathrm{P}_{n+1}(x)$ interlace on the imaginary axis with those of $R_{n}(x), r_{n}(x), \rho_{n}(x)$, and $P_{n}(x)$.
(c) However, the zeros of $r_{n+1}(x)$ and those of $\rho_{n}(x)$ do not interlace, except for the case of $n=1$.

We conjecture that the above results are true for any value of $n$.
TABLE 1
Rising Diagonal Polynomials for $n=0,1,2, \ldots, 8$

| $R_{0}(x)=1$ | $r_{0}(x)=1$ |
| :--- | :--- |
| $R_{1}(x)=x$ | $r_{1}(x)=x$ |
| $R_{2}(x)=x^{2}+2$ | $r_{2}(x)=x^{2}+1$ |
| $R_{3}(x)=x^{3}+4 x$ | $r_{3}(x)=x^{3}+3 x$ |
| $R_{4}(x)=x^{4}+6 x^{2}+3$ | $r_{4}(x)=x^{4}+5 x^{2}+1$ |
| $R_{5}(x)=x^{5}+8 x^{3}+10 x$ | $r_{5}(x)=x^{5}+7 x^{3}+6 x$ |
| $R_{6}(x)=x^{6}+10 x^{4}+21 x^{2}+4$ | $r_{6}(x)=x^{6}+9 x^{4}+15 x^{2}+1$ |
| $R_{7}(x)=x^{7}+12 x^{5}+36 x^{3}+20 x$ | $r_{7}(x)=x^{7}+11 x^{5}+28 x^{3}+10 x$ |
| $R_{8}(x)=x^{8}+14 x^{6}+55 x^{4}+56 x^{2}+5$ | $r_{8}(x)=x^{8}+13 x^{6}+45 x^{4}+35 x^{2}+1$ |
| $\rho_{0}(x)=1$ |  |
| $\rho_{1}(x)=x$ | $\mathrm{P}_{0}(x)=2$ |
| $\rho_{2}(x)=x^{2}+3$ | $\mathrm{P}_{1}(x)=x$ |
| $\rho_{3}(x)=x^{3}+5 x$ | $\mathrm{P}_{2}(x)=x^{2}+2$ |
| $\rho_{4}(x)=x^{4}+7 x^{2}+5$ | $\mathrm{P}_{3}(x)=x^{3}+4 x$ |
| $\rho_{5}(x)=x^{5}+9 x^{3}+14 x$ | $\mathrm{P}_{4}(x)=x^{4}+6 x^{2}+2$ |
| $\rho_{6}(x)=x^{6}+11 x^{4}+27 x^{2}+7$ | $\mathrm{P}_{5}(x)=x^{5}+8 x^{3}+9 x$ |
| $\rho_{7}(x)=x^{7}+13 x^{5}+44 x^{3}+30 x$ | $\mathrm{P}_{6}(x)=x^{6}+10 x^{4}+20 x^{2}+2$ |
| $\rho_{8}(x)=x^{8}+15 x^{6}+65 x^{4}+77 x^{2}+9$ | $\mathrm{P}_{7}(x)=x^{7}+12 x^{5}+35 x^{3}+16 x$ |
|  | $\mathrm{P}_{8}(x)=x^{8}+14 x^{6}+54 x^{4}+50 x^{2}+2$ |

## RETERENCES

1. R. André-Jeannin. "A Generalization of Morgan-Voyce Polynomials." The Fibonacci Quarterly 32.3 (1994):228-31.
2. R. André-Jeannin. "A Note on a General Class of Polynomials, Part II." The Fibonacci Quarterly 33.4 (1995):341-51.
3. R. André-Jeannin. "Differential Properties of a General Class of Polynomials." The Fibonacci Quarterly 33.5 (1995):453-57.
4. L. Brand. Differential and Difference Equations. New York: John Wiley \& Sons, 1966.
5. A. F. Horadam. "Extensions of a Paper on Diagonal Functions." The Fibonacci Quarterly 18.1 (1980):3-8.
6. A. F. Horadam. "Polynomials Associated with Generalized Morgan-Voyce Polynomials." The Fibonacci Quarterly 34.4 (1996):342-48.
7. A. F. Horadam. "Jacobsthal Representation Polynomials." The Fibonacci Quarterly 35.2 (1997):137-48.
8. A. F. Horadam. "A Composite of Morgan-Voyce Generalizations." The Fibonacci Quarterly 35.3 (1997):233-39.
9. D. V. Jaiswal. "On Polynomials Related to Tchebichef Polynomials of the Second Kind." The Fibonacci Quarterly 12.3 (1974):263-65.
10. A. M. Morgan-Voyce. "Ladder Network Analysis Using Fibonacci Numbers." IRE Trans. on Circuit Theory 6.3 (1959):321-22.
11. M. N. S. Swamy. "Properties of the Polynomials Defined by Morgan-Voyce." The Fibonacci Quarterly 4.1 (1966):73-81.
12. M. N. S. Swamy. "Further Properties of Morgan-Voyce Polynomials." The Fibonacci Quarterly 6.2 (1968):167-75.
13. M. N. S. Swamy. "On a Class of Generalized Polynomials." The Fibonacci Quarterly 35.4 (1997):329-34.
14. M. N. S. Swamy \& B. B. Bhattacharyya. "A Study of Recurrent Ladders Using the Polynomials Defined by Morgan-Voyce." IEEE Trans. on Circuit Theory 14.9 (1967):260-64.
AMS Classification Numbers: 11B39, 33C25


## Author and Title Index

The aUTHOR, TITLE, KEY-wORD, ELEMENTARY PROBLEMS, and ADVANCED PROBLEMS indices for the first 30 volumes of The Fibonacci Quarterly have been completed by Dr. Charles K. Cook. Publication of the completed indices is on a 3.5 -inch, high density disk. The price for a copyrighted version of the disk will be $\$ 40.00$ plus postage for non-subscribers, while subscribers to The Fibonacci Quarterly need only pay $\$ 20.00$ plus postage. For additional information, or to order a disk copy of the indices, write to:

## PROFESSOR CHARLES K. COOK <br> DEPARTMENT OF MATHEMATICS <br> UNIVERSITY OF SOUTH CAROLINA AT SUMTER <br> 1 LOUISE CIRCLE <br> SUMTER, SC 29150

The indices have been compiled using wordperfect. Should you wish to order a copy of the indices for another wordprocessor or for a non-compatible IBM machine, please explain your situation to Dr. Cook when you place your order and he will try to accommodate you. DO NOT SEND PAYMENT WITH YOUR ORDER. You will be billed for the indices and postage by Dr. Cook when he sends you the disk. A star is used in the indices to indicate unsolved problems. Furthermore, Dr. Cook is working on a subject index and will also be classifying all articles by use of the AMS Classification Scheme. Those who purchase the indices will be given one free update of all indices when the subject index and the AMS Classification of all articles published in The Fibonacci Quarterly are completed.

